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#i ncl ude <stdi o. h>

int main() {
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box1l 1 = 15;
box1l 2 = 10;
box1_3 = 8§;

sizel = box1_1 * box1_2 * box1_3;

box2_1 = 25;
box2_2 = 15;
box2_3 = 12;

size2 = box2_1 * box2_2 * box2_3;

box3_1 = 50;
box3_2 = 40;
box3_3 = 20;

size3 = box3_1 * box3_2 * box3_3;

countl = 0O;
suml = O;
count2 = 0;
sun = 0;
count3 = 0;
sunB8 = 0;
N, i;

scanf ("%d", &N);
for(i =0; i <N ++i) {

int A B GC
scanf ("% % %", &A

&B, &C);

if(A <= box1_1 &% B <= box1_2 && C <= box1_3) {

printf("1\n");
++count 1,

suml += sizel - A* B* C
} else if(A <= box2_1 && B <=

printf("2\n");
++count 2;

sunR += size2 - A* B* C
} else if(A <= box3_1 && B <=

printf("3\n");
++count 3;

sunB += size3 - A* B* C

} else {

box2_2 && C <= box2_3)

box3_2 && C <= box3_3)

printf("COversize product\n");

printf("% %\ n", countl,
printf("% %\ n", count?2,
printf("% %\ n", count3,

return O;

sunt) ;
sung) ;
sunB) ;
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{



